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I think My teacher thinks I think My teacher thinks

Question Bank MF1.6 Question Bank MF1.7

                 

Work out the total cost and change below.

I bought Total
Change from 

£2 coin

pencils and a 
ball

a car and a 
dog

a robot and a 
car

a robot and a 
dog

Work out the cost of each group of items.

1 sweet costs 9p 4 sweets  

1 drink costs 50p 3 drinks  

1 toy costs 75p 2 toys 

1 burger costs 99p 3 burgers 

Work out the cost of one of each item.

10 sweets cost £2 1 sweet 

5 balls cost £15 1 ball 

6 cartons cost 60p 1 carton 

4 sweets cost 80p 1 sweet 

5 notepads cost £1 1 notepad 

6 cans cost £1.20 1 can 

35p

70p

26p

45p63p




